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Labour Economics and Labour Statistics
Paper : PGDLL-06

Time : 3 Hours | [ Maximum Marks : 100

Note .— The question paper is divided into three Sections
A, B and C. Write answers as per the given
instructions.

e - T g fer, ‘9 ek ‘Y e wmel § e ©
YIF WIS b FRITTIR U9l & IW ST |

Section-A 10%x2=20
(Very Short Answer Type Questions)

Note .— Answer all questions. As per the nature of the
question delimit your answer in one word, one
sentence or maximum up to 30 words. Each

question carries 2 marks.
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1. Explain :

AT HIfT

(i) Labour force
99 9

(ii)) Labour turnover
gH STEd

(i1i) Absenteeism
srgafEafd

(iv) Unemployment
SRS

(v) Agriculture labour
Wit sfhes
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(vi) Year of Indian Labour Statistics Act Qug—d

............ : (g T q9)
IR 9 WifeashT A= B as o | fdor - frdl 9R ol & S ATl oM o SR OH
.. . sifreram 200 veai A wfEifHa wifNw) g&w Tee
(vii) Unorganized labour
10 st =1 ¥

STt SIfheh
2. What is meant by Agriculture Labour ? What are

(viii) Appropriate Government their problems ?

I R Fo sfrw & 71 At ¥ 2 F AP # T
(ix) Labour Statistics T 2
I TRt 3. Write a short note on ‘Labour in Five Years Plans’
(x) Five-Year Plan n India.
e S TG § Tuasig Aeel § o9 W Uw giew fee
Tafem |

Section-B 4x10=40 _
4. What is meant by ‘Organised Labour’ ? What are

(Short Answer Type Questions) its problems ?

Note .— Answer any four questions. Each answer should not gufed sfaes ¥ F01 aAfuy™a § 7 399 g7 99

exceed 200 words. Each question carries 10 marks. FE ?

PGDLL-06 / 540 / 7 (3) Turn Over PGDLL-06 / 540 / 7 (4)



. What necessary steps do you suggest to overcome

the problem of rural unemployment ?
T SUSERE Rl W R & fIU o9 = sTewas

gema < ?

. Write a note on Labour Absenteeism.

o sureafa W feool fafe )

. Explain Labour Economics.

ST AN hl THSATET |

. Explain main sources of ‘Labour Statistics’.
99 WieTh! & TG &l H TR

. What is meant by ‘Unemployment’ ? What are its

various kinds ? Explain.

ST | B iy ® 2 98 fRad UeR &t B

T ? wEEEU
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Section—C 2x20=40
(Long Answer Type Questions)

Note .— Answer any two questions. You have to delimit
your each answer maximum up to 500 words.
Each question carries 20 marks.
gues—4"
(& s ue)
ot - gl S 9vai & S ST 319 3199 SR i SAfeeRad
500 v H IR ST T&w 9T 20 TR H T

10. Discuss the source and composition of labour force

in India.
g W o9 vIfe & B9 9 TS W foasn sife |

11. What is Labour Turnover ? How 1is its rate

measured ? What are its effects ? Explain.

9Y SAEd N § 2 THH! X hY AU Sl ¥ ? 3ES
F YNE B § 7 HHSET
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12. Explain main features of Indian Labour Statistics

Act, 1953.
IR oM Aifeaent IfufEm, 1953 & w@ WEHmE
T FHIRT

13. Write a critical note on the contribution made by

the small scale and cottage industries in India.

IRA H o TR 9 HR SR N U M ARE W
sTAraATeT® fewro fafem |

Or
(3rgan)
Write a note on ‘Industrial Development’ in India.

qRa | ‘sienfe foem’ |t o fafen
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